Econ 401

Homework Four

Due Oct. 20

In 2007 the New York Times reported that the demographer Andrew Beveridge had discovered that “women of all education levels from 21 to 30 living in New York City and working full time made 117 percent of men’s wages.”  In this homework you will reproduce that result, formulate a hypothesis about why such a ratio is observed, and test your hypothesis.

1.  First, try to reproduce Beveridge’s findings using data from the American Community Survey, available from IPUMS.  Limit your sample to full-time workers ages 21 to 30 in New York City.  
a.  What is the ratio of female to male average income?  

b.  What is the ratio of female to male median income?  

2.  Test the null hypothesis that average female incomes are less than or equal to average male earnings.  Can you reject the null? 

3.  What factors do you think might make New York different from the country as a whole?  Use a wage regression to control for individual characteristics that you think might matter.  Does including the controls change the results?

Downloading Data from IPUMS

- Make a list of all the variables you need so you don't forget something.  You don't want to have to download the data twice.

- Go to http://usa.ipums.org/usa/

- Register and login.

- Choose "Create and Extract", and choose the 2007 ACS sample.

- Choose the variables you want.  If you want to limit your sample, choose "Case Selection." 

- Select the cases you want (choose New York).

- Request the extract, and wait for it to be created.

Creating the Stata Data Set

Download the data file and the Stata command file to your folder.

The data file will come compressed.  Double-click on the file to unzip it.

Put the network address of the data file after the "using" command.

Testing for the Equality of Two Averages

To test the hypothesis that male and female weekly earnings are the same, assume that they are drawn from the same box and estimate the SD of the box using the SD of the sample.  The t-statistic for testing whether the difference between the means is equal to zero is:


t = 
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